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IS HECC 36 34 70
AT BECC 33 38 71
JNE B2 AFFcCC 35 37 72
45H B— Z=CC 38 35 73
bliEE =B Z+=&CC 37 36 73
6 % B LEEREGC 39 35 74
1=3H FER =JECC 38 36 74
8|—i5 StH FEECC 38 36 74
ILE SFH LEERBRCC 37 37 74
10/ N E RecC 37 37 74
HEFT FE =JRCC 34 40 74
2(2H HBE EEGC 34 41 75
13/N¥y {1\ RLECC 40 36 76
RN LEfIECC 40 36 76
15|80 % ZHA EmCC 37 39 76
16|47 YtHA J\FHCC 40 37 77
NS =[ECC 40 37 77
18|% % B— LEFRGC 39 38 77
19[4% =X ENDEGC 39 38 77
0=2f ZFE fallC C 38 39 77
21 @Eﬂ S = BR LEFRGC 37 40 71
2|5H 1R & CC 44 34 78
B|IBAR EFX LEEREGC 41 37 78
24|25F0 5 mECC A 37 78
250h% SR #HE)IIC C Iy 37 78
260ER B AFHCC 40 38 78
21[H  Z=BH I\ FHRCC 40 38 78
28|80 —j & CC 40 38 78
29|E A JLif AHRJIGC 40 38 78
(=)l _SF EE>3LECC 40 38 78
S1PMTH 3 ExcCcC 40 38 78
2(ME AT )| C C 40 38 78
33[HEA __ FO5A BxkCC 39 39 78
4lIIE  {B— EQEGC 39 39 78
BFA T =+=&CC 39 39 78
6(SII & 2#cCcC 39 39 78
S7IHLL &k FliccC 39 39 78
B EK (B Flicc 42 37 9|mEr =7
I 2 E253LECC 1737 79
NVER BE #HJICC 40 39 79
41]78JI]_ sLHB feliC C 40 39 79
REH EFEA ak ccC 40 39 79
BELE f=E FE=CC 40 39 79
ME- IR LEEBCC 39 40 79
45[EK E BILECC 39] 40 79
46[/NFF T AFHCC 39 40 79
AT 2= MECC 39 40 79
48| HE  IEFH H1)J—IN—XGC 39 40 79
49/db+F  Hi AFHCC 38 11 79
[ER —= LEFRRGC 38 41 79
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SI[AF X [RERBRCC 37 42 79
AAGE ST [LEEHCC 37 42 79
B3EM  TE EECC 36 43 79
SA4|BHH B IR CC 42 38 80
bolifrpe L #AKCC 42 38 80
bo[{EHEM 1FE B&E#CC 421 38 80
57| = H g— LEEREGC 41 39 80
817k H & EBEGC 41 39 80
NNES = LEEBRCC 41 39 80
60| SR IFF0 EE>3LECC 41 39 80
T3 LEERGC 41 39 80
62[LLUfE 1F 18 AHJIGC 39 Iy 80
63|k —F LEEECC 38 42 80
64| FR— HEGHCC B/l 42 80
65|5H =B LEEECC 37 43 80
66[FJIl  FZ0 LEEREEGC 42 39 81
6/EE & BILECC 41 40 81
68| —5 AHCC 4] 40 81
698 HZER LE#IECC 41 40 81
J0[FHE BE =[ECC 40 Iy 81
Jth AR fE— HECC 40 A1 81
RIEN H=HE&E IE8GC 40 4 81
13| [ — TECC 39 42 81
T4l EA  RFk— =@ECC 39 42 81
I 3 IE&CC 39 42 81
16|55l {E%F Flucc 39 42 81
TT|%2 5% HEME ENEGC 9] 42 81
18|k 8 #=IUGC 39 42 81
NEE HF E@mCC 39 42 81
80/NH  BE LEEHECC 38 43 81
81;ZH %= FIl)—GC 38 43 81
CALEEE S BB GC 38 43 81
83[1EAR 1= fajkCC 44 38 82
A ENTTIE DS LEEEREGC 43 39 82
8olimBiH R= [EERBCC 43 39 82
86| FE =z HHCGC 43 39 82
87| x5 FOA BECC 42 40 82
88|ARER EIE LE#IZECC 42 40 82
89[EH #8— HECC 42 40 82
0EER Fi== MR CC 42] 40 82
oHE 55 ERCC 41 Iy 82
R2IE] F LEGC 41 41 82
93|giEFH _Bf LERRC C 4 4 82
94pEAR {7 LEHRGC A 4 82
BIEH X ILECC 40 42 82
96| K1 [EF FIl)—GC 40 42 82
CHEE S =mECC 44 39 83
98/ vtk B LEEBCC 44 39 83
99|5h3k  #H LEFECC 43 40 83
1003k A F1= =[ECC 43 40 83
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101[A:Z  FER =& CC ] 4 83
102[thot H=zZ EFECC 42 Iy 83
103| % 2 XER ZEECC 42 Iy 83
ENTIEFS EECC 42 Iy 83
105[2K W& E&CC 41 42 83
106[;a[ A BEE LEEECC 41 42 83
107[#2H & =EEfCC 40 43 83
108[ILH F= LE{ERCC 40 43 83
109|871y == IMECC 38 45 83
110[8F5 BE1T aA#HCC 45 39 84
MLRFE = LEEECC 44 40 84
12|18 Fli# ZEECC 43 Iy 84
113|5)ll HHE A CC 43 1 84
14 xERE & EECC Y 84
115|ch g — LEGC 41 43 84
116[515 {E1T EECC 41 43 84
[RNIEL T E=T/N FHCGC 41 43 84
18[EEAR 1EfF fallC C 41 43 84
119{E <k Hl LEFRGC 41 43 84
120K TiE LEFECC 41 43 84
121[$8A £ FEF)I|C C 40 44 84
121ERPH F J\FHCC 39 45 84
123|78H W 5cCC 38 46 84
124|HH _ 4FHH LEEEGC 36| 48 84
125|7K%  #h& EECC 45 40 85
1263 5H  Efk HEEICC 44 4 85
127[/NVEE X8R ZTHECGC 44 41 85
128|RF 1ERE #EFJIC C 43 42 85
29|l EiE MIECC 42 43 85
130[4ER & #Fr)I[C C 42 43 85
131|70H _ =RE EEGC 42 43 85
132|5 B [LE{EBCC 4 44 85
1B EH L BExkCC 40 45 85
1343xkH 1EH [LEFCC 47 39 86
135|=3F —HB falicc 45 11 86
136|]5 3B AIECC 45 4 86
137[p[Ef  XE J\FHKCC 45 41 86
1B EFR = =mCC 43 43 86
139[t2H  #=E HILECC 43 43 86
NEL R4 ABJIGC 43 43 86
141]ch Il ZAB LEEMRCC 42 44 86
S ES J\FXCC 42 44 86
1435l & [LE{EHCC 42 44 86
144|t8H E= #F)1|C C 47 40 87
145|485l —% EQEGC 46 1 87
146[%5H 54 =@mCcC 45 42 87
1471287 JE— LEfIECC 45 42 87
48| BB FE J)— v XCGC 44 43 87
149 H T fmalicc 44 43 87
EINE = EFCC 42 45 87
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151/ F0EHI ECC 40 47 87|
152[/M g /\EBR =JECC 42 16
153|175 EEGC 4 47
154/ il IR FE=CC 40 48
155|FE EE LEEBCC 48 41
156[EK  #FA AHJIGC 46 43
157|185 K [E{E ERCC 45 44
158|1%pE  BUAR A3 CC 45 44
159|#AAKR  sh2Zz [EQEGC 44 45
160[[@%F =T LEERBRCC 44 45
161[B8H SEA FHHCGC 3 26
AENEES EES>FLECC 43 46
163|7K;E  #CAB LEGC 43 46
164|#2H & LEEBCC 49 41
165|=HF IF ECC 48 43
166| i BE ECC 44 47
167 =€ 1% AFCC 42 49
168|0fE {8 EmCC 42 49
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